W je
o Tartorfilloam Lloowitle 650 152 Nyqeey 378X hibawketdat
. = 2 o AN =
aa:xl r ) X ¥ 9=x°:) Hxi=x =) x;o
{‘a w2 ) o x = hX =) X A% =0 y =x = w=f
- g ! ! !
g =hx CIAE 4150 V”’Tf‘aldxrr'f x“dx-r’t/‘]'x3=r(§! ;0% = 'E:
r‘)}sz_ o
2 1 o - S_
> Af(hxx)cbt /(AiliL 2) Kf?"”‘ rfc”dx o K
w=hry ) S l/ V. Yy = o B B B i
:‘(b-; 3&3)"9:@&3“/?}‘(’ * < L
m BPEE YT bt 9 Bk =ty IS % trf,*lﬂ, WL
/ {Lﬁx 1€ P43
ik
19,0 c/{(,\q- A% -3 ,xelo, 5'] / ?;K143 =) Ix =g
s 3 =) x*=y r‘) Y=t
V= rrj (ax-3)dx = f;(;k W ax = e ) 2 3
g B l" v, :Wf( Koty e 2 2'(‘_{(,:6).( $3XH I
= T [ en’-a0-nt] = T $7x33
= m/(,co ry¥+2'3¥3*3€;>{)
3 ‘f‘*’v “4x>-3 ‘9&’(;1 {9 " =.ut[( S +;3+3c-l)‘0]:gﬂrf
\/va (4x*-q d;\,\ng(‘f(;(,y‘-—Hﬁ*E’I)dx 2
% 5 - 7‘] x* 3 g = .ucf(x +ox S a)de = zr/,x 5,
=T/ (l-3xT -7 z<+9f><) 70‘1
[-(]l 3 y (%, a® Yy 1] *Jr[(r *233*52 o] =
=TT 18214810 (-0 1) 01 0)) =5
'}; ‘f‘:‘t;‘) ?‘i ) ! V:\/,mvl:g%llﬁ-ij;ﬁ‘ :—golt-
45 L TR e KT ey
4 X =0: ‘3-0"*|=—| 55 ’”)"/.3:_)(5; Lo pbaweddat {g:-xl*fl
B =21 y=a%h |-3 - T !
T ¥ P f 2 -x¥ 2=t = xT= W e yxet
\/?Kjxdbﬁ=vrf (g1)dn -
3 = &
10/ (5 y ) =ﬁlfﬁ,3l43)_(i_(_,]k,)_‘] e V, = rj % *.q dx mr]w‘* e e) obe = mfx‘a et
- —— =1
=g (&% r3+‘rf) 0} =%r
HH =) & Ly 2 Sy & a L Va=T %) =a” (LS )
' g
14,13 ”f“’"‘/—' : V=V~ = ??E"C‘;"'T’ i T
\\ ///K!S\{ér ; - 6‘3:‘[; ) ,V’/'j\n_ﬁ'_ﬁ}\ . !
"':‘:‘_h =) k=9 d}?
Y = Ve - =yt {()L':'—‘) ':(‘3*'\ i \-‘\!}J"\r —(':'?QIH-Xrﬁual
-
& ‘3 ‘F"_ i x=8e gpedEa=2 | N - Elaspiumrc :
2 x=y 2.
s T (y-v™y
T‘f X rﬂv& T-f fg-rt) d&a, .'(/ cry+1) . Koty \r_ ) 1%
= r[ Fae)T - T(0r0)T ] "T[L g V= fv—m My = "f('c= 2"y oy
(18] X2 4r gl gr 256
w6 e ’?} T ‘T_/(fLB ey’ Y.ar)-rr[(rc,:t 5 2% 425)-0)= 90
- i
| Ve et nf w55y s - ;r/(w L £x3)
G 2 16,1 2
an [ (™ ~£‘13G\3) 0] = 35-10\ - T&JQ V= of Au)au f(d? X rﬂ< f(? X ) de
LB Sounpobdod : /( Bl xl)=f?-w-:‘f-‘r*>'° S 1,90-") > 4300
*g,:xﬁwr
Y5 =X 0 VTR P et flo S AT
=) xlf.t{ ==% +4/p (=))(11*)\"G =0 % v
=) s<=gr'3 Lﬁ
2 — X
x O0-%lfs: 00 =)x=10 M Bilon pPAG + O T 12,0 tn,
kl-waltal - x"‘:a"—?lq .
=T cf ox*uy de =T f(xT ¥xtr e a G
fj&x f 5 f + Vel V:_(Affg\dba =f§-x¥d‘j’fixld*3=fi(ql“gl)£‘g
o o
—Tc/ xﬁgr:x +l6 % r[(;;‘r CH6-2) - OJ o
(s ) =3 NMay-54) =3 [(ata-5a*)-0]
Vi 2 rj 9a dr s rj (—Mro) &x"ﬂ“f '(XMO) dx = fzr/ i(;qm 0 ! . ,
2 2 =i 5a®=3ad -3 00’ =520 0n
o L 10 +03y? 3(-11—.'5) ) = _7?‘ Fray. Wy = 31-(9 g:-.?

Vo=V, (Iu;n,hg)_j




